£ O $74 %L AL x B2 st v

() 0 9 AlFEL et - (x)
L) —4 o AlFTL -2 0]t} - (O)

B 5o ABLE 2 Aol - (O)

B 849 ABLE 1Al - (x)
B BE felE ATl 2 Aolet - (x)
) ol T AT T 0ok - (x)

® 1,2 O@Lo..cC (@)L’H @ c,2 (G c,o

() 0 & AlF2 0 ©]tt.

L @ 5 AlFde 2454 G

(O ¥ a O AFTS Va2t —va

(@) =9] frelg= Aol EAsHA] &1 0 9 AlE2 0 o]t
(B F59] F AELe &2 oot




a, b, 9 gro] th-Z3t Zo] Fold wf, ax bx ¢ O] - HI=A A9t

a— AF 36
b — 3 9] %ol AlF

c— /(32 9 & AF2

@-15 @ 18 ® -18V3
@ 183 ® 108

&8

a= (AEZ36) = V36=6

b= 39 Y AFE) = V3

c=( V-3 A EAAFD) = 3 A=A AFDL) = -3
Laxbxce=6x V3x(=V3)=-18




3.

a<s5du fa=57 - mat 5 & s A

® -2a-10 @ -2a @0

@261 @2a+10

V(@-52-/(-a+5)2=-(a-5)-(-a+5)
=-a+5+a-5=0




4. 9<V2x+30<12 <€ o, V2x + 302 A7 HA k= A5 x 9
S ot

> E

> ®™et: x =35

9< V2x+30<12
2x + 30 = 10%2 = 100, x = 35
2x+30 =112 =121, x =455




5.  12< vx<2l 2 WEsk= F4 x 9 @& 25 otoft

v V vV V¥
ox  0X
il o ol
w [\S)

02
i
.

1.2 < yVx<21
144 < x<4.41
x=2, 3, 4







V32 -2v24 - V2(1+2V3) = aV2+ b V6 ] AR W], a - b 9

H2? (Fa, b= )

9 @ 0-3 @3 )

&8

V32 -2v24 - V2(1+2V3)
=4V2-4v6-V2-26
=3V2-66
na-b=3-(-6)=9




8. S AZZHANA V333 e a0l Vb=18174 I, a+ 59
& Fotoet

- 0 1 2 3

3.0 | 1,732 1,735 1,738 1,741
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